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Question 1- P and Q can do a work 1n 60 days. If the efficiency of P 1s double
than Q then in how much time P alone can do the whole work.

T 1- P 3R Q Ueh S ol 60 farAT H i Tkl 81 Al P ol 38T Q © ST &, T P

TRt 9X ShTH ohi Tohel TH H L TohdlT &7

A.90 DAYS
B.45 DAYS
C.75 DAYS
D.70 DAYS
E. None of these
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Question 2- A boat travel 120 km upstream in 20 hours and 240 downstream in
24 hours. Find the difference of speed of boat 1n still water.

T 2- ek Tl €I o Gfcrehet 120 foret shT g1 20 =52 o 37T 1T o 31Jehed 240 fopelt
24 5 T 9 ! gl T a5 ra i i Jma shifer

A.10 km/hr

B. 8 km/hr

C. 12 km/hr
D.24 km/hr

E. None of these
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Question 3- The circumference of a semi circle 1s 252 cm. If the diameter of
semi circle 1s 30% less than the diagonal of square then what 1s the perimeter of

square.

T 3- Teh STeIe ohl qiLier 252 |l 21 Afa STeI shi SATE T o forshol § 30% A
2, o okl afefer o 29 A 12072 em

B.160V2 cm
C.280V2 cm

D.180V2 cm
E. None of these
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Question 4-
i) x*—17x+72=0
(i) y*> =4

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 5-
i) x*-52x+100=0
(i) y*—29y+ 100 =

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 6-
i) x*+9x-52=0
(i) y*—11ly+28=

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 7-
i) x* -400=0
(i) y*—20y+100=0

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 8-
(i) 13x>-18x +3 = - 10x +9x>
(i) 12y?+ 11y + 12 =22y +10y?

(N x>y

(i) x<vy

(i) X >y

(Iv) X<y

(v) x=yorrelation can’t
be established,
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Question 9- Two trains X and Y running in same direction at speed z km/hr
and z + 5 km/hr . If the distance of journey 1s 225 km and X takes 75/2 min

more than the train Y. Then find value of z + 4z

I 9- &1 T X 3R Y U T3 | 2 Topwi/siet 3T 2 + 5 Tohi/sier &bl T1fd § =iet Tat
&1 A AT oAl gl 225 foprft 8 SR X, ¢ Y 9 75/2 e Safreh wram 8 dl z + 4z 0
O T it A 12

B. 14

C.16

1D

E. None of these
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Question 10- Ra j earns 25% profit in first investment and loses 15% on other
investment. If the ratio of two investmentis 9 : 11 respectively then find

approximate combined profit or loss percentage.
T 10- TST U8 5031 H 25% AT TSI LT & 9T 317 a1 0T 15% &1 ar 2

fe 1 THeRIT =T STTUTA SRHRT: 9: 11 &, T STIATIT HIeh 14 AT BT Tierd
shfern A.3%

B. 6%

C. 8%

D.7%

E. None of these
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Question 11- A dishonest milkman professes to sell his milk at cost price but
he mixes it with water and thereby gains 25 %. The percentage of water in the

mixture 18:
T4 1 1. Tk SISHT GRIETCAT 370 U i AT Heol UL sTer 1 eIl hdT € Qfoh o8

U U o 91 TUATdT 2 3T 36 YohTE 25% AT A9 ShidT 2| Toeror 1 urt sh1 gfasrd

e A.10%
B.15%
C.20%
D.25%
E. None of these
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Question 12- Two alloys P and Q of zinc and copper are prepared by mixing
the metals in ratio 5 : 11 and 5 : 3. Equal quantities of these alloys are melted
and form a new alloy. Find the percentage of copper new mixture.
T 12- {Sish ST IO AT &1 THHT P 3 Q G ahi 5 ¢ 11 3RS : 3% AU H
TSR AT 3ht STTel 81§ THE STl shl SHT WIS ohi {UEITTET STTAT & 3R Toh 18
21 1 <1 fAmToT forarm STt 21 el o U fH2ror st wferd 1 shifsri

A.43.125%

B.33.225%

C.53.125%

D.56%

E. None of these
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Question - Train A of length of 360 m can cross a tree 1n 24 sec. Another train
B of length 480 m can cross the same tree in same time as train A. Both train
entered a bridge of length 540 m at same time moving in same direction.

T4 360 HeT T LTSN A T US i 24 Tehe T IR L Tahdl 2l 480 WX oAaTs
Tl Ueh AT ¢ B 3T U 1 7 A o THT THI H IR L Tehd | 2l ST o GHH

T ¥ <o T Ueh & &0 | 540 HIeT TAsl UeT H ForeT el o
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Question 13- Find the tome taken by train to cover 1.1 km long platform if the

L. 1
speed of train 1s increased by 335 %

AN ([ o N 1 LEAN AN C AN
T4 13-AfG I I o 337 % St afg et 2, av 1.1 foret el woiewid st a3 st

o ToTT &1 ST ToT™T 137 21 T ehiielg

A.77 sec
B. 73 sec
C.78 sec
D. 88 sec
E. None of these
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Question 14- If X and Y be the normal speed of train A and train B then find
6X-3Y.
T 14- 3¢ 27 A 3T B Sl G T X 3R Y gl 6X- 3Y Jid |

A.20
B. 40
C.30
D.50
E. 60
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Question 15- Find which train will cross the bridge first and when 1t cross the
bridge completely then what will be the distance other train need to cover to
cross the bridge.

T 15- 1 15T, Toh i € ¢ T8 T ol TR UM ST ST I8 I ol T & |
IR T AT I 3hT AT Rt o foTT et & i fohefit ol o sheft =it

A.120m
B.110m
C.135m
D.130m
E. None of these



MISSION IBPS 2024 (PRACTICE BATCH)
IBPS/RRB PO MOCK QUESTIONS




MISSION IBPS 2024 (PRACTICE BATCH)
IBPS/RRB PO MOCK QUESTIONS

Question 16- If train A started from station P at X at 10 am and travel towards
Y and after 2 hours train Q started from Y and travel towards X. If they meet at

6 pm then find time taken by train A to reach Y after two train met each other.

T 16- 376 ¢ A XM P 8 T8 10 31 & 21 & AR Y hT AR AT LA € 3R]
2 HEATE ST Q Y § I BIT & S X T ST AT Lt 51 AfE I 717 6 &1f e &,
a1 &1 A o Uh-gaL § et o oi1q Y ek Uge o foq o A SR fora i awe s
EAIS I A.6

B.7

C.9

D.§

E. None of these
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Question 17- What 1s the time taken by two train to cross each other. If time
taken by train A to cross a tree 1s 66.67% more and time taken by train B to
cross a tree 1s 150% more.

T 17- 31 LTSN G Th-GEL T I T | Fohe T EHe ohTaT 82 I ¢ A g
Ueh US ol IR i H Tl TIT T 66.67% A8 & 3T 1 B §HT Ueh US &l IR
T B TR T |w 1509 77ee 2

A.12.7
B.32.7
C.22.6
D.25.6
E. None of these
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